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1. YEous ang s/ e
3T) SIS 50% TET 31T ShT T3l URiTtheh HETAPRTAT THITATGAT UgaTd” Seesard.
) STUEHS FaTd STRA T 2d U AT hUTaT 33T 3TUEl WOTdTd.
) SIS AaTd ST (ST hY STYT=IT B3] Sera” grard.

T 39T
1) haes 3T 2) IS T, F
3, q, B 4) TEHIHT HIOTIET TS

Identify the correct statement/s from the following.

a) More than 50% of the world's earthquake zones are found in the 'belt around the Pacific
Ocean'.

b) Japan is also known as the 'Land of Earthquakes' as it has the highest number of
earthquakes.

c) The world's most destructive earthquakes occur on the 'Honshu' island in Japan.
Answer options :

1) Only a 2) Only b, c

3)a, b, c 4) None of the above

2. STGST Gehid IOTUH 7 REUIRT 94T Haer,
1) STHSTT Weahld IHdR ¥R 3T9dTd.
2) STGST W Hg AT, AT ATl SISl BAH Blel.
3) AT WEhId TSl ST, WHST do, TId, A ATl Wids! ST,
4) TS GehId ST ST ATeid.

Choose the option that is not related with the properties of sedimentary rocks.

1) Sedimentary rocks consist of horizontal layers.

2) Sedimentary rocks are soft hence these rocks wear out quickly.

3) Minerals like Coal, Mineral Oil, Saindhava, Gold etc. are found in sedimentary rocks.
4) Fossils are not found in sedimentary rocks.

3. dTdcl g FHdaTedc! YRdis qadid IR aTgom=T &l € T TR areom=r
AT, T TS fIvgd WSITe | d9R BidTd. ATd i< qroft AT dTehliche §RIH
IR qIR BT, 3730 HeMT 31y ®Rordrd.

1) TEHT 2) grat
3) TAe T 4) gTaT

Rivers flowing through mountain areas in desert and semi-desert regions are shallow and

intermittent. These rivers form extensive depressions. Temporary saline lakes are formed by
the accumulation of river water in it. Such a field is called

1) Pediment 2) Playa

3) Alluvial fan 4) Bajada
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4. 3ENT YU Faer
) ST ST HOST SPIdIe Aaid i qaagioll SR o<t oier Midr spugrer
BISHISIb BN 3T
) HISHTRIT & IR SATGHET SPITIS FaTd 39 SATRE YRl Teh 3R AT 39T 5,896

LINIES

9T 3R :

1) %tk 37 2) %th &

3) 3, T Sl 4) IASTRT HIOTIRl ATar

Choose the incorrect statement.

a) Andes mountain range is the longest mountain range in the world which is formed due
to tectonic plate activity.

b) Cotopaxi is the highest active volcano in the world with a height of 5,896 m.

Answer options :

1) Only a 2) Only b

3) Both a and b 4) None of the above

5. el arg Iy st
37) feee 98R & SPIdie gax Jaid 39 U8R 3.
) e ToRM=AT ITRAT SAGT Jdd aR 0ol [RAIGT TaazinT 3Ted.
%) fdde YSRIST <SP BWR (Roof of the World) 3T UTdTd.

T I
DY, 5 2) 3, =
3) A, T 4) TISIDT I

Identify the correct statement/s among the following.

a) Tibetan Plateau is the second highest plateau in the world.

b) Tibetan Plateau has the Kunlun Mountains to the north and the Himalayas to the south.
c) Tibetan Plateau is called Roof of the World'.

Answer options :

1) b, c 2) a, C

3 a,b 4) All of the above
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6. dISdeT U3 I o YhR [H=RTT =,

) MG AR T Goold HUT TRIHS JgT A Teh Ige USohes FAAT, ATAT FHAT
I T

) NTHRHS HITSUTAT SR UTGATS dBaerdl AT FHAON ST g3 faeHies
AT 99X gid, AT ZHIGT 3T TEUTdTd.

T I9Y
1) aes F I°g 2) $9S F TG
3) el A 4) T I

Consider the following statements about types of desert regions.

a) Rocks are exposed as sand and dust particles are carried away by wind, this is called
'badland'.

b) Sudden torrential rains causes extensive erosion of the desert to form barren land which
is called 'Hamada'.

Answer options :

1) Only a correct 2) Only b correct

3) Both are correct 4) Both are incorrect

7. T SEeEs T [y R =
3N T STERATT RATSh= TATOT 70% ThaT ATILITET ST 37194,
) BT FIERT ATA3F Ids, TN HISA 30T ST WaTer 1=l

&) ITET SchoATSe 3€ 3Tl

AT IR
1) Wk 3T 2) Bh §
3) Wh T, & 4) TSR Fa

Consider the correct statements about acid lava.

a) Acid lava has 70% or more silica content.

b) This lava is very thin, dark in colour and very fluid.

¢) It has a high boiling point.

Answer options :

1) Only a 2) Only b

3) Only a, ¢ 4) All of the above
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8. R FrEig FguvT B TR SSST & HIOTdr?

g i ot g
<h) W 8) HPR[RT dTGhIPIX]
T I

H3A 5 2)d, %h, €

3) A, 9, h, © 4) 3, F, S

What are the depositional landforms formed due to the depositional work of ocean waves?
a) Off shore bars b) Wave cut platform

c) Beaches d) Coastal sand dunes
Answer options :

1) a, b, c 2) b, c,d

3 a, b, cd 4)a, c d

9. YT JACNT e W= d FTeAT AT M HRoa halfed Aad STol 3e?
) SATSMHET qMeX TShedT ST,
) 9 558€ o7 T

%) GATAT ATl ATTHHATT TR

T I

1) %<h A 2) %hth &

3) Th o TTOT & 4) 3, F AOT &

Which of the following has helped to define the layers and boundaries of the Earth's
interior?

a) Eruptions from volcanoes.

b) Study of seismic waves

c) Study of temperature in Earth's interior
Answer options :

1) Only a 2) Only b
3) b and c only 4) a, b and ¢
10. TRHARRR & mEd?

1) RAFCAT O S dIR Tlod Bed 9gh

2) FETT G- HAHS TR T3S HalH TS

3) ferTeraaT MU SR TR Seedl BeM Shedl
4) FATAT YT HRTHS TIR ST G Sehed]
What are drumlins?

1) Small rocks formed by glacial erosion action

2) Small rocks formed by waves erosion action
3) Small hills formed by glacial deposition action
4) Small hills formed by wind deposition action

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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e faum foemrd =

31y STt Freadiges spmardt weh 2t 2.

) TETAT YNERIG 39 AGSIUN FHHT Hen I AT ATOTTAT HrATd A0
2 Ueh HeaT=l UlshaT 3TTe.

AT I

1) %eh 3 SRS 2) Fth & RER

3) el [ SRIER 3med 4) IT g FHET AR

Consider the following statements.

a) Exogenic forces cause erosion only.

b) Gradation is an important process in leveling the terrain by reducing the elevations and
depressions on the earth's surface.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both statements are correct 4) Both statements are incorrect

12. GRIGUSI JETaR =T MAART HROTMYd SOT=T 31 Ulshaiden! siasid Ufsha=il 3aTe0]

FHIITAT 3TTR?

) @ FHATTRRT grodaTeT ) Udd FEUTRRT geaTel
%) IehTATATS FHHTOT EOTRT =g $) SATSTEr fohar

Wﬁﬁﬁ

1) 3, &, € 2) T, H,

3) 3, 4, S 4HT, S

Among the many processes that lead to the formation of landforms on Earth, which of the
following are examples of Endogenic/ Hypogene processes?

a) Epeirogenic movements b) Orogenic movements
¢) Landforms formed by meteorites d) Volcanic activity
Answer options :

1)a, c,d 2) b, c,d

3) a, b, d 4) b, d

13.  HIOTAT [T FEdT AT & FITeh AT

1) UTITHe Far 2) THH FEd

3) YUY & 4) THSYHT
Which earthquake waves have the highest amplitude?

1) Primary wave 2) Secondary wave

3) Surface waves 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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14. ITATEAT AYLROMS AT Wich eaT HHIT B, AT 3= FoTar.
1) IIAT (Blow Out) 2) 9TdfIaR (Blow Hole)
3) UG (Pavement) 4) TRIHUHT HIOTIIRT ATar.
____are depressions in a sand dune ecosystem caused by the removal of sediments by wind.
1) Blow Out 2) Blow Hole

3) Pavement 4) None of the above.

15. ehro T e
3) SATHHET IxhT=AT Tl AT YR 0 YTy dTe? qedTd, AT TRRIFRE (Pyroclast)
T,
) AT I, SATAHEET Y5, Tehid Ge A dohe Iiar JHET 2ar.
Y IR
1) Hab 3T 2) Hhae &
3) 3T 30T F Sl I 4) TRSYRT Thel ATar

Choose the incorrect statement.

a) During a volcanic eruption, different types of detrital(condensed) material are ejected,
they are called pyroclasts.

b) It consists of ash, volcanic dust, and small fragments of rocks.

Answer options :

1) Only a 2) Only b

3) Both a and b are incorrect 4) None of the above

16. Yeios 9 o= e,

3T) T ARG [AT=TER ek 980T 2.

) TEAT Feglaedd U e S 92,

AT IR

1) Hh 3 TRIE% 3R 2) Hh F SRS 3R
3) Q! aRISR 3Ted 4) ST T TR

Consider the following statement.

a) Only erosion is done by the river during its youth stage.

b) During the old stage of a river, mainly depositional activity takes place.
Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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17. AT I9TAT, GURYT, A<T, AT, aRT, T 910f, APRE STel a7 HRS2hIeAT AThd
IS Tdd [FISiaaT STl TSMEaUer g% ST AT FIsies ISET UTh-Ush o9 ATerRIT
BT T, ST M T g 3, a&T 3 gordid
1) TSI 2) 3TYLROT
3) gfaad-r 4) YT TR

is the geological processes in which moving water, ice, wind, and waves erode the

Earth's surface, leading to a reduction in elevation and in relief of landforms and landscapes.
1) Denudation 2) Erosion and deposition
3) Diastrophism 4) None of these

18. UeIoh g™ TR &l
3) T BT TSR TaRT AT STIeIRoT 7fOT fghaoT Sgr S grand.

) TEIAT ATFROT TR FeaTawdd BT T3, THATGHE Hald JiRE! &Y e,
Ty 3N

1) Fh 3T SRR AR 2) th § SRR AR

3) Sl SRR 3Med 4) It TR 3TTEA.

Consider the following statements.

a) Both erosion and deposition take place as rivers travel through plain region

b) In the old/mature stage of the river erosion cycle, landforms like delta region, perieplain
are found.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both statements are correct 4) Both statements are incorrect
19. TEAFGr=AT AIEROT HEHS TIR BRI =Y HIOTAr EdA?

3T Ah / T ) SBladr a=r

&) 'U' MHRMET A ¥) TBUT (T STae)

) V' AHRMET 20

T I

1) 3, 9, & Thth 2) 3, 9, h, € thth

3) 3, 9, , g Bhth 4) A, d,h, E,

Which of the following landforms are formed due to the erosional work of glacier?

a) Cirque b) Hanging Valley

¢) 'U’ shaped valley d) Rock Basins

e) 'V’ shaped valley

Answer options :

1) a, b, c only 2) a, b, ¢, d only
3) a, b, d, e only 4)a, b,cd e

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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20. SIErAT YASSEAMGS AT TG TaT TaTE ST TaTelel SaT fNed 9 Hedl T g

FEOTdTd.
1) €I dige 2) Sfige
3) HIfCT dige 4) e drEe
The point at which the new flow created by the rejuvenation of the river meets the old flow
is called
1) Hanging point 2) Joint
3) Meeting point 4) knick point

21. YIS JUHTGS Ig g fHaer,

3T) IT Fatd Ag AT T BEdl A AT YISTH THIAR ISTETGT o hdrd.

) A7 FeAH HUT IR-GTel AT (G2 Jarar=r [ a1 grodrd.

&) ST AT AT Fatd FHHT ST At ISR T haledT HOTd Faiieeh [T Hdr.
T I

1) urafies Fer 2) A9 Tl

3) YIS @l 4) TASURT T

Choose the correct option from the following description.

a) Seismic waves slowest of these travel underground parallel to the earth's surface.

b) In these waves, particles move up and down in the direction of travel.

c) Although they have the lowest velocity, earthquakes on the surface cause the most
destruction in the epicentre.

Options :
1) P - wave 2) S - wave
3) L - waves 4) All of the above

22. GEIHUDI HIOTAT RUTGHT aid IAGsiaT 2oy 38, 3T gHERT gUTdl J5h?
3T) ATTHIET FB0T
) hid PRYE
%) TSI BT wear
I 39X
1) %th A 2) Tth
3) eh & 4) ISUYRT Tehgl ATar
Which of the following landform shows the rejuvenation of the river?
a) Meander
b) Interlocking spur
c) Bird's foot delta/ Dissected delta
Answer options :
1) Only a 2) Only c
3) Only b 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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a7) e
EEIEIR @ﬁﬁ@T
LRIpE
)3, NEEE
3H S 4H T, H
Lake Titicaca is bordered by which of the following countries?
a) Chile b) Peru
c) Brazil d) Bolivia
Answer options :
1)a, b 2)bd
3)cd 4) b, c
24, AT TETATS Yelcs HIOTd ThR ATTHATA?
30) BIESERE (Oxidation) E)) EAEIEEIES (Carbonation)
F) BASIH/ISTA (Hydration) ®) SiTossm/Rfafe®T (Desilication)
T I
)3, 9, % )9, ke
3) A, FHS 4) TISIHT I
Which of the following are types of chemical weathering?
a) Oxidation b) Carbonation
¢) Hydration d) Desilication
Answer options :
1) a, b, c 2) b, cd
3acd 4) All of the above
25. I g™ Haer

%ﬂ‘—!‘qﬁﬁ wqcrq|q<|q< TEA AT e geTei=ar Mt MeaumaRgT St ST J9=

2T T R aﬂi**aumld
G IR ER CIRS MMUTSHT MBS [T HISER 90T g3 M F=aq

o)
2, T aref REe s wurdE

T I
1) Haes 3T 2) HIS &
3) 3 anfor & 4) ST AT

Choose the correct statements.

a) A mass of rocks and sediment carried down and deposited by a glacier as ridges are
known as moraine.

b) Lateral moraines are sharp-crested piles of glacially-transported rocks and debris that are
deposited when the glacier melts.

Answer options :

1) Only a 2) Only b

3)aand b 4) None

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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26. 92 FIEr dfeId IRhIS AT TS =

:"l

El £ )
TR BEERCER) i
o S GERCEE YRET

3) B 9h o IR IRET

4) BT GEh TRET ki ESE]

Following are the landforms created due to external forces. Select the appropriate option.

Answer options :

a b ¢ d
1) Rock pedestals Yardang Mushroom rock Zuegen
2) Rock pedestals Zuegen Mushroom rock Yardang
3) Mushroom rock Zuegen Rock pedestals Yardang
4) Mushroom rock Yardang Rock pedestals Zuegen

el SHIMTETS! IR /| SPACE FOR ROUGH WORK P.T.O.
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27. WIAHHUDI HIOTAT GChiHe HITIH TR0 TgT Acl?

3N dAYEMTAS 92 ) NSERYOT AT hRS
%) =9 fohar ¥) Sifa® ge&

Y IR

1) 3, 9, % )T, H T

3) 31, h, S 4) 3, d,h, S

Which of the following causes mechanical weathering?

a) Temperature changes b) Repeated wetting and drying
c) Frost action d) Biotic factors

Answer options :

1) a, b, c 2) b, c,d

3 a,cd 4)a, b, c d

28. Ueio faam fo=Rrd =,
) S T FETH UTAHE ST I Ak STl
) T8 FEaT by BT T2 & S Geiuet AU 3Te.

F) AT 3 S[ehdld.
T I

1) Fth 31, § =& 2) th ¥, & TR

3) Whth 3, & SRIS% 4) 99 YU SR 3R

Consider the following statements.

a) Among all earthquake waves, Primary waves have the highest velocity

b) The shadow zone of Primary E-waves is greater than that of secondary E-waves.
c) Primary waves can travel through the inner core

Answer options :

1) Only a, b are correct 2) Only b, c are correct

3) Only a, c are correct 4) All of the above are correct.

29. Yeio faum foemrd =,
3T) UTITHS FET AT TR HEUTHTOT ATHATIT TaRT T SRIAHT ATHATAIS ol HhuT &
Fao et Jwed feaid 9eg AToTdr.
mgwaﬁmwﬁmﬁwﬁﬁmwﬁmgmwwmwmwmwﬁ@ﬂ

ST AT Q3 °gT

1) Fh 3T SRR 2) %th ¥ SRIEY

3) Sl UM SRS e 4) LT Tqu T smed

Consider the following statements.

a) Primary waves are like light waves, while traveling through a medium the vibration of the
particles in the medium is perpendicular to the direction of propagation of waves.

b) Secondary waves are compressional waves like sound waves in which the particles of the
medium vibrate in direction of propagation of wave.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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30. Yelo 9 =R .
37) SRPET WereAT 4F ThATaTIRIT o 3T ST T S470T STHINERT WeTeaT i e
SATGHE ST & 3ME, AT Uriitheh 97 3% HRR 3 oTdTd.
) SIS SR SATSTFE e 2/3 § UiTtheh 3T 31T WTERAT MR 3TTEesdTd.
T I

1) Hth 37 SR 2) Hth ¥ SRR

3) Sl AU S_eT smed 4) LT U= gHET IRA

Consider the following statements.

a) From the east coast of Asia to the west coast of North America and South America there
is a continuous zone of volcanoes, which is called the Pacific ring of fire.

b) About the two thirds of world's active volcanoes are found in the pacific ring of fire.
Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

31. eI [GaRuIias- Bl IATET ITTRR TSET.
- TSI THTOT 70% fohaT ATIRT 3179 3T,
- TS BT
- U
- SHl JaTRr
Y IR
1) IS Fr=r NEIRERIEH]
3) TR AMfRdr 4) IASYHT Thal ATl
Identity the subtype of Lavarasa from the following details.
- Silica content is 70% or more.
- Light in weight.

- Viscous

- Less fluid

Answer options :

1) Acidic lava 2) Basic lava

3) Incomplete Information 4) None of the above

32. 3TIEROT TIehTeil \Aeheddl/ HiMTossd sk Riesid Taid wum smRkeT &gzmast BICT
1884 ITSHI ATIXAIITT HigHT.

1) S, TH. St 2) &Y. T, foheh.

3) ST 3TgHS 4) 3. T, MR

In 1884 American geographer----- formulated the Cycle of Erosion or Geographical Cycle.
1) W. M. Davis 2) C. H. Crick

3) Enayat Ahmad 4) E. W. Gardner

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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33. WoiUs ang [Tue R .
3) USRS SAT A W ehur=! diedr A 37T, AT H (AT ST IR HHHY
9T 3T FEOTAT.
) AT A YT THA I8 hd SA0TEal AT T T SISUMAT 8T gehd 9T 379

T,

T IR

1) 3T 37O § I 2) HaS 3
3) hdd & 4) ITUhT TR

Consider the correct statements among the following.

a) The line connecting all the points on the earth's surface where the intensity of the
earthquake is equal is called the 'Isoseismal line'.

b) Line on the Earth's surface connecting points where the seismic wave arrives, generated
by an earthquake, at the same time known as the ‘Homoseismal line’.

Answer options :

1) Both a and b 2) Only a

3) Only b 4) None of these

34. 3TIAIT2Ieh SIERROTEAT TURTER AR IARTAT TII™A, AT ThRiT Tiieor s
heb, o HIOTA?
1) g, ¥, T
2) STIT, AT, 2T JdT
3) I, URTE, YA, T, STshaadr
4) gAIT, AR, st qAfsdra
Based on the genetic classification, Davis further classified the valley types according to
slopes. What are they?
1) Young, Mature, Old
2) Syncline, Anticline, Faultline
3) Consequent, Subsequent, Obsequent, Resequent, Insequent
4) Antecedent, Superimposed, Drowned, Rejuvenated

35, WIoIAUhl HIUTd [T Se= AT8l?
1) RIORATAT 30T JAEed WaidT IhgeHS g,
2) TUTATEE BT ®UART Tedh 3.
3) IASIAMONT dIR G WeShId WHSIdad A0 Taddrd.
4) Slgsh Ysh fﬁm TIR Brara.
Which of the following statements is incorrect?
1) Calcium is converted into graphite due to the heat of lava.
2) Anthracite is a type of metamorphic rock.
3) Mineral oil deposits are found in the carbonaceous rocks.

4) Dyke rocks are made of lava/magma.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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36. ATl 2Ihidl WToIGUhl HIVTAl 3ETEX0T TRA?

37) 9ad FHIUTRRT BT ) T

F) @ MATTRRT BTSS! BEIERE
9T I

1) %th 3, & 2) ®th 9, §
3) <h 3, T 4) hth &, €
Which of the following are examples of Diastrophic activity?
a) Orogenic movement b) Earthquake
C) epeirogenic movement d) Degradation
Answer options :

1) only a, c 2) only b, d
3) only a, b 4) only ¢, d

37. 3R SMREGAIG Hiakel TSR ISy [AaR =m.
31 § 99dUelT YR JoR 3Te.
) 3ehr gaareaT 2fETT YR Ufg 3qRMER § SR 3R,
F) TS BIGIREl TAGI<AT TRV FATS GT Wi Tcdg HHIUT T A [T a1 Fbed

Wﬁﬁ'ﬁi‘:
1) $9& I R 2) HS ¥, F WER
3) Shad I, § IR 4) STR Fa TR

Consider the features of the Colorado Plateau in North America.

a) It is a piedmont type of plateau.

b) It is a plateau on the western slope of the southern part of the Rocky Mountains.

c) A steep-sided canyon carved by the Colorado river has created a very deep gorge, which
is called the 'Grand Canyon'.

Answer options :

1) Only a correct 2) Only b, c correct

3) Only a, b correct 4) All of the above are correct

38. WW&WWEW%WW% wmﬁﬁwwwﬂ
THTOTT |$4\T|dl g GSHAT IR GivTe 9RT TR BIdTd. HolvT Weahie HIT AT i<
39 JMEdTd. FET AR did SAn, FAT 3T ROTdTd.
1) oI 2) IREFT
3) BT Th 4) ENARRT
In arid regions, layers of hard and soft rocks are aligned vertically. As winds blow, the soft
rocks get eroded, while the hard rock formations remain. Some of the abrasion undercuts
parts of the rocks, and these tall standing landforms are called
1) Zeugen 2) Yardang

3) Mushroom rock 4) Inselberg

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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39. Yeie 9 [9=RTd .

3) HaF AT AT @i BsT geer MHAToT FRard.

) IOM FSI=AT FYST U3d GRSl a9 3Teesdrd.

Ty =Y
1) %th 3T SRR
3) Sl AU SRR AT

Consider the following statements.

a) All rivers form a delta region at their mouths.

2) Wth & SRIER
4) =T fou ghEr smRd

b) The delta region of the Ganga river has mangrove forest.

Answers options
1) Only a is correct
3) Both are correct

2) Only b is correct
4) Both are incorrect

40. ATH [AUH/A [HERIT @,
3 gl TSTealTdis s

HTSAIUT AT 30 S 2014 ST TS BTSS! &Il

GICERIGIR)
) 19 S5 2022 S ITTSALSG FIMSATET T TS HIRIBL. THBUR TGRS & ST

)

O 39N
1) % 3T
3) 3, § AT

Consider the correct statement/s.

2) Bth §

4) TRAURT TS AT

a) A landslide occurred in the village of Malin in the Ambegaon taluka of the Pune district

on 30 July 2014.

b) On 19 July 2022, a landslide occurred at Irshalwadi in Raigad. The landslide was caused

by torrential rains.
Answer options :
1) Only a

3) Both a and b

2) Only b
4) None of the above

41. T (Hih) Tl IS8T 3BT,
3) <heh BIRIE (STHAT)
%) o 7o |ATageT (MRA)
T 39T
)3, 9 F
ERETRS

Identify examples of Block mountains.

a) Black Forest (Germany)

c) Vindhya and Satpura (India)
Answer options :

1) a, b, c

3)b,cd

) Ao ol @iz,
¥) RS Tad @

2) A, FS
4) TSR F9

b) Salt range (Pakistan),
d) Ural Mountains (Russia)

2)acd
4) All of the above
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42. YEIHUHI Tl AT TS 0T SRS AT SO Y HioTdr?

) ST3E 3H ) STl YE/9ETT AThRE HeMH
EDRECEE RIS RCIE] S RELSRICE
I I
1) RISTR T9 2) A, T, H
3)d,h S 4) 3,k S
Which of the following landforms are formed by depositional activity in the upper region of
a river?
a) Alluvial cone b) Alluvial fins/fan-shaped plains
¢) Piedmont alluvial plains d) Delta region
Answer options :
1) All of the above 2) a, b, c
3)b,cd 4 acd
43. ST AT
qaqq THR
3T) AT i) STERE 94d
ENERIFRE ii) STheATET (1) Tad
&) ISTHETS iii) SATGHE! ad
) II9T 99d (F=TER) iv) gSaT 9ad
I 39N
3T q <h S
1) iv ii iii i
2) ii iv iii i
3) ii iv i iii
4) i iii i iv
Match the following :
Mountain. Type
a) Satpura i) Residual mountain
b) Appalachians ii) Block mountain
¢) Rajmahal iii) Volcanic mountain
d) Popa (Myanmar) iv) Fold mountain

Answer Options :
a b C d
1) iv ii iii i

2) ii iv iii i
3) ii iv i iii
4) i iii ii iv

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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44, IF FES TS B FheUudT HIvT AlSS?
1) 9ieeR U 2) 5. =Y, UG
3) =g, UH. Sf 4) ST g
Who postulated the concept of 'Base Level Erosion'?
1) Walther Penck 2) J. W. Powell
3) W. M. Davis 4) James Hutton
45. W%ﬂﬁﬁww aﬁaﬁ-ﬂﬁmﬁrﬁw
37) Qé\lgﬂl Yaolx : \7|°||('||C¢ ddl'i%‘lN I('IGICTXH HolRdloldle) gl QhHIGhltl d‘lldiqcl(‘llq Yalr
) TIHRAT SR Be@I& Teh MdRIadIT YoR e, IT USRI F=THE0 39T 4,000 9T, 32,
T I
1) Had 3T 2) HaS &
3) 3T, T Sl 4) IIAUhT TRl ATar
Consider the following statements and choose the correct statement/s.
a) Altiplano Plateau: It is the second highest intermountain plateau on earth after the
Tibetan plateau.
b) The Bolivian Plateau is also an intermountain plateau. The average height of this plateau
is 4,000 m.
1) Only a 2) Only b
3) Both a, b 4) None of the above
46. AT T g3 (FHYFRY) ® HIOTAT HEAMS MHT =T e?
1) e FHegor 2) TS TR
3) AT fregor 4) 9T TYEROT
Mesa and Butte (Skandagiri) is a landform created by whose work?
1) River deposition 2) River erosion
3) Wind deposition 4) Wind erosion
47. T faam Faer.

3T) IRATAIS THHT SIP]d SATAME! A MHER SeiEr sTeesd!.

) MIRTe! SeMyle TP a7 SSTaREGT A WEMdie J[E 3™ Bed .
RRIRTHS

1) h oA 2) B ¥

IEEINCRERS 4) T TH

Choose the correct statements.

a) India's only active volcano found in Andaman and Nicobar Islands.

b) ‘Stromboli’ volcano found in the Sicily Islands is known as 'Lighthouse of the Mediterranean
sea'.

Answer options :

1) Only a 2) Only b

3) Both are correct 4) Both are incorrect
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48. YSTSUSHT HIOT AR € YUB el s
) VT HEUh! TqaTd He T TG Hard.
) T JATATE! Q2T o ShaTIT_IT G AT haTeaT Qe 3.

%) FaTh TR e e,

Y IR

1) 3, T, H ) A, F
3T, F 4 A, T

Which of the following are characteristics of Surface earthquake waves?

a) Among all the seismic waves, these travel at a slow speed.

b) The direction of travel is from the hypocentre to the center of the earth.
c) Most destructive seismic waves.

answer otpions :

1) a, b, c 2) a, C

3) b, 4) a, b

49. FSIET § [T HIOTAT HIRBTAT HeToT ohaq AT g
1) RRg=er 2) ART

3) qrofr 4) 99 2 9 3
Bajada is formed by the deposition work of which agent?

1) Glaciers 2) Wind

3) Water 4) Options 2 and 3

50. NATTRT BTETAT 3TYEIROT HAMHS AT ZOTRT &= 3TesaT.

3T) AT TGA=T ) AR IET

%) BT SERINERCLERI

3) APRIAART ATGHINIRT

T I

)3,k g 2) A, 9, h, €

3) h, S, S 4) 3,9, h, S, 3
Identify the landforms formed due to the erosional work of ocean waves.
a) Wave built terrace b) Sea Caves

c) Beaches d) Natural chimney

e) Coastal sand dunes

Alternative Options :

1)a, c e 2)a, b, cd
3)c d e 4)a, b, cd e
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51. Jeie faa fo=Rma =
9™ 37 : APRTT YSE SIS Agaq dlaq e 8 [AYagarer veid 9=, d) [ayagar]
SRS P TS,
g  : TIYagiT Ue3T & IR U1, SMes aTdTaRoT ST IedT ST YRaaT & Jrerset
IASST U3l TR,
gy 39N
1) T a1 oo o ST aRIeR SRIA U™ & 7 37 = 379 WSIhRIT 3MTE.
2) 9T o7 NPT T SIEr SRR A UM ' § 37 o 31 IASIHhI0T T,
3) 3T AT IR ' A e,
4) '3 T A T I ITe.
Consider the following statements.

Statement A : The highest temperature of ocean surface water is recorded not in the
equatorial region but slightly north of equatorial region.

Statement B : Equatorial region is characterized by yearly rainfall, cloudiness and supply of
fresh water.

Answer options :

1) Both statement 'A' and 'B' are true and 'B' is correct explanation of 'A'.

2) Both statement 'A' and B’ are true and 'B' is not the correct explanation of 'A'.

3) 'A' is true but B’ is false.

4) 'A' is false but 'B' is true.

52. Ueie faam fo=RTa =
) ¥ IPRT JATE ITOMAT b=l We2oeTd didacl el e,
) ATIROTIO 39T APRI FaTg WAl Ya [har=arass- aradl.

v YT / 3 ST

T I

1) %th Td9TT o7 2) Feh AU &

3) gl [T SR 3R 4) TR [T g 3ed

Consider the following statements.

a) The region near the coast, from which a cold oceanic current flows, has a desert.

b) Most of the times the warm oceanic current flows on the eastern coast of continent.
Identify the correct statement/s.

Answer options :

1) Only statement a 2) Only statement b

3) Both statements are correct 4) Both statements are incorrect
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22 AT Wb IRER

53. fREeerAT MU SRS TR g Y STaET.
37) feHie Fes ENS R E
%) e feHre DEVERC
I 39N
1) 3T, h, © 2) A, 9, h
3) d, h, S 4) 3, ¥, h, S
Which of the following landforms are formed due to glacial deposition?
a) Eskers b) Outwash plains
c) Lateral moraines d) Craig and tail
Answers option :
1)a, c, d 2)a, b, c
3) b, c,d 4)a, b, c d
Mwﬁﬁﬁﬁﬁwwﬁmﬁm%ﬁﬁwmmﬁ%W
=) fedle FHesh
Eﬁ) 9111 T I ) J SATHRTEN =T
9T 39N
1) 3, 2) 3, 9
3) 9, % 4) 31, d,h, S
Which of the following glacial landforms are found in the plain region?
a) Cirque b) Eskers
c) Craig and tail d) U-shaped valley
Answer options :
1) a,c 2)a, b
3) b, c 4)a, b, c, d
55. WTo faohedT ITATUhl ShioTd /T ITd/ATdl UrTthes HETAPRAS 3TTe/d?
31 A feeht ) 2
F) ARY Fefawr ) ARFHT
?) TS
9T 39X
1) % 3, 9, S D) FHT,FH, S
3) th 3, &h, S 4H)Hth 9, S, 3
Which of the following trench is/are in the Pacific Ocean?
a) Puerto Rico b) Tonga
¢) South sandwich d) Mariana
e) Kuril
Answer options :
1) Only a, b, d 2) Only b, ¢, d
3) Only a, ¢, d 4) Only b, d, e
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56. Jeles g o= =i

37) IRGUT TheAl ARG FTS] Al IARTAT IR

) IRGUT TheAE! IATAT [A%eg T 919] #g AR 317,
T 3R

1) %th I TR 2) th & IRIER
3) Tl RIS 3ATEd 4) TN b IR

Consider the following statements.

a) The windward side of Barkhan has a steep slope.

b) The upwind side of the Barkhan has a gentle slope.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

57. Ueio U e = onfor o faum stiesar.

3N fayaegira ES A T9E € FaYEem el FeTIeT SR 379,

) YT §3 FoedT AT HHET a9 T & T AR Godl THSTI8T HHl
S Ere

%) TYIIAIGT R SIS T8 U FETRT FHErAT JENIERIG arogTe draar Al
BT 2% 8 0.5°C 3Te.

$) T MG APRIE AT9HH § go- 3% IMSTdidie APRIYET HHT 3R
RT3

1) %<h 31, S 2)q, T, HE

3) th 9, 4) ®h A, &

Consider the following statements and choose the correct statements.

a) The equatorial enclosed sea has more temperature than the equatorial open sea.

b) As we move away from equator, the enclosed sea has less temperature as compared to
the open sea on the same latitude.

c) As we move away from the equator, the rate at which the ocean surface temperature
decreases is 0.5° per latitude.

d) The oceans of Southern hemisphere has less temperature as compared to the oceans of
northern hemisphere.

Answer options :

1) Only a, d 2)a, b,c,d

3) Only b, d 4) Only a, c
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58. TSI VATERTS UTOIT=AT BT hiROINd 9edh hiuTd?
3N °ddIS BRh ) TSATHYIIT

&) PRI RO ¥) RAFUTS TRH
IO 39N
1) 3,9, H S 2) Bth 7, &
3) Thth A, © 4) B<h 3T, &k, ©
Which are the factors that initiate water movement in the oceanic current?
a) Density difference b) Gravity
c) Coriolis force d) Salinity difference
Answer options :
1) a, b, c, d 2) Only b, c
3) Only a, d 4) Only a, c, d
59. WIAHIGUH! hHivTd Ieh FHETAT R TRUTH HATd?
37) SIS ) TS
%) AP YaTE ¥) aRT
T I
)3, 9, % 2) A, h, T
3) d,h, S 4) 3,9, h, §
Which of the following factors affect salinity of ocean?
a) Evaporation b) Precipitation
c) Ocean current d) Wind
Answer options :
1) a,b,c 2) a, c, d
3) b, c,d 4)a, b, c d

60. WIHGUDHl IUT IPRT YT HIvTd?
1) ISR, TTeth, FMITHT, THR, qgcm 2) FRITETAT, AIEHTRR, e, AT
3) 3TrNReT, HiHIfar, Aretitaes, Hasr 4) TGN, BIhAHS, Toth, BSMER

Which of the following are warm ocean currents?
1) Labrador, Gulf, Brazilian, Alaska, bengula 2) Kuro siwo, Madagascar, Gulf, Alaska
3) Oya siwo, California, Mozambique, Canary 4) Aghulla, Falkland, Gulf, Labrador

61. TSI YSIITd Il (3 AR Uegdi- aTexedl eehedi™l Ml &id, 3721 cehedi=T

————— FEOTdTd.

1) SR ATGHIRT 2) BITGATHR ATGHIBRT

3) Ao 6||§5F>Ii5|§| 4) dIRYIT

In desert regions, sand hills are formed parallel to the direction of the wind, that are known
as ----- .

1) Transverse sand dunes 2) Parabolic sand dunes

3) Longitudinal sand dune 4) Barkhan
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62. W I UM 3TTed. AR (3N B A9 sRF @) g A &ROT 38 Wole faohedr
qITETYEr AT T e
far (37) : AYagaT TR e APRIET ARdT Sied 379,
FROT @) : TYFIT TSI B AT TSI, TSI SRR ST ATgdT & IfRrssr
ITHT IR,
1) (30 3T (&) T A IGT @) € (3 F S TEIHT e
2) (30) AT (%) FEN AA LT (@) € (3N o FITeeh eienzon e,
3) (3N AT IRIA (@) I TR,
4) (30) I IR (@) TA AR,
Below given are two statements. Among them (A) is the statement and (R) is the reason for
it. Choose the correct option from the following options.
Statement (A): The salinity of the oceans is higher in the equatorial region.
Reason (B): The equatorial region is characterized by heavy rainfall, overcast skies and
humidity.
1) (A) and (B) are both true and (B) is the correct explanation of (A).
2) (A) and (B) are both true and (B) is not the correct explanation of (A).
3) (A) is true and (B) is false.
4) (A) is false and (B) is true.

63. TREl AT AheAT MRS TaR EomRr FRISHT STRAT=AT HIOTAT R STERT AdTd?
1) 9T 9@Te 2) IR dTdce
R ICRIE R EGRE 4) FSRRT 99a=T
Girishrings, which are formed due to the formation of the cirque by all the four sides, are
found in which region of India?
1) Western Ghats 2) Thar Desert
3) Himalayan Ranges 4) Nilagiri

64. Jeies (g =R =i
37) ITSdel USENd daR BIUTRT ST [og & IToxedT [M8TuoT ST 3807 3R,
) qrEdr FeEnd AT ogrer RfFdRIET ar=E @ i srEs a3,
T I
1) Fh 37 SRR 2) th ¥ SRIEY
3) Il SRR AR 4) TET IH AR
Consider the following statements.
a) Ripple marks formed in desert regions are an example of depositional work of sand.
b) Slow wind speed is favorable for the formation of ripple marks in desert regions.
Answers options:
1) Only a is correct 2) Only b is correct
3) Both are correct 4) Both are incorrect
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65. GRIeh am e =, .
) T ATHATT 2T HAT YTk ehd Gesidl Jarardr (<2 Jad.

mﬁﬁmm JaRT e FTehd ATard.

1) Fh 37 SRR 2) th ¥ SRR

3) Siel SRR 3ed 4) FAGUDT Thar ATar

Consider the following statements

a) The direction of propagation of primary seismic waves changes while entering a fluid
medium.

b) Secondary waves cannot travel through outer core of earth.

Answer options :

1) Only a is correct 2) Only b is correct
3) Both are correct 4) None of the above
66. T AT T STERT AT HATe SfT0Thg Irieeh AMSIN SRIOMRT 79T fere.
1) HTIR - Y - RIS - YR 2) HIER - Fl?'s‘ W ICIEH
3) 9laX - d<|$ IR - YPR 4) 9lsX - IR - (‘I<I$ RIER

Select the option showing the south to north arrangement of alluvial depositional region
found in North Indian region.

1) Bhabar - Khadar - Terai - Bhangar 2) Bhabar - Terai - Bhangar - Khadar

3) Khadar - Terai - Bhabar - Bhangar 4) Khadar - Bhangar - Terai - Bhabar
67. ITTGATET HIOTAT W3T T [UhiTer quieh AT SiTar?

1) ¥R 2) 9}

3) 9P 4) TSI TR

Which region of sediment is considered fertile for crops?

1) Bhabar 2) Khadar

3) Bhangar 4) None of the above

68. W%ﬁﬁwwaﬁaﬁwﬁrwﬁﬁw
31) 3= ‘lgqoq msmu T BT 33T & WIS Gesivel e e,

mﬁ%w &ohq BRI S[hT BT T2 BT JeATeAT THOT GABATAT 40% g ATH ML,

1) h A 2) ®th ¥
3) qial 4) IAGUIDT Thel ATer

Consider the following statements and choose the incorrect statement/s.

a) The earthquake shadow zone of secondary seismic waves is greater than that of primary
waves.

b) The earthquake shadow zone of secondary seismic waves is more than 40% of the total
area of the Earth.

Answer options :

1) Only a 2) Only b

3) Both 4) None of the above
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69. THIVTAT FUTHT HETaI=T [AdTRe T RV 3fiees STd, S TgdT 39 g AT WreH
ASST 3R?
1) "eid IdR 2) YEE 7Y
3) I 4) IISUYRT HIErEr AT

Which landform is known as the extended portion of the continent which is occupied by

shallow seas and gulf?

1) Continental slope 2) Continental shelf

3) Trench 4) None of the above
70. ¥ ST [ORAIRA ST 0T AFRY ITdT AT Sted.

N EERE 2) EWeid 3dR

3) APRT T 4) IISURT HIETEr ATer

connects extended continental part and ocean basin.

1) Continental shelf 2) continental slope

3) Trenches 4) None of the above
71. APRT @R S7for At § o2ITd e IdTd.

1) &< 7 2) IO JPRT HEH

3) Weid IARTAT AT 4) IASYHT Thal ATl

Oceanic canyons and trenches are located at regions.

1) Continental shelf 2) Abyssal plain

3) Continental slope boundary 4) None of the above

72. WISGUHRl HIUTT PFT & TERIPRT T2TdIe TaTd SIS ET U M@ S 3MTe?

1) @S 7Y 2) Geid 3dR

3) Wiy TENAPRIT He 4) TS

Which among the following is the smoothest landform of the oceanic region?
1) Continental shelf 2) Continental slope

3) Deep ocean plain 4) Atoll

73. WISGUh BT & § IPRIAT M9 SRS TR T MR?

1) @eid 3aR 2) TRHfoe

3) TSich 4) IrRY e

Which among the following is formed due to the deposition action of the ocean?
1) Continental slope 2) seamont

3) Atoll 4) Submarine canyon
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74.

ST e,
Rk CUREIR waT
(i) IS a) MThehdT ga [T
(i) ST b) 2T
(iii) 3PTCERT c) 3TsifeT
EIRIEE d) ToReha afem fopmT
T I :

@ @) 3 (@v)
1) b d a
2) c d
3) b c
4) c a
Match the pairs.
Ocean currents Region
(i) Falkland a) East coast of Africa
(ii) Benguela b) Russia
(iii) Agulhas c) Argentina
(iv) Oyashio d) West coast of Africa
Answer options :

@ @) (i) (@v)
1) b d a C
2) c d a b
3) b ¢ d a
4) c a d b

(@}

a a o
c o o

75.

EEIICAEDIERC IR LRG3

3N ‘HR?{F«QTW‘%F ERIIEE e LA dﬂad

) AT Iq')'ﬂ**-HGH H\QSIS e Slleo- 'el?l' "Ilél

T 3

1) ST [ S=RYeR 3R anfor € 3 I INT HSIRIT e
2) ST [T SRIeR ATRT 30T § 8 37 o INg TASIH0T ATl
3) 3T ISR AR, § IHh

4) I Ih, ¥

Consider the following statements.

a) The west coast of India has more ports.

b) Continental shelf is almost absent.

Answer options :

1) Both statements are correct and b is the correct explanation for a

2) Both statements are correct and b is the not the correct explanation for a

3) a is correct, b is incorrect

4) a is incorrect, b is correct
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76. AN EUTIHT HIVTET Y& FaiTaeH & IS AR?

N CEERE 2) EWeid 3dR

3) AT T 4) VM AP HEH
Which of the following has occupied most of the oceanic area?

1) Continental shelf 2) Continental slope
3) Trench 4) Abyssal plain

77. WSS A FTeATd SRTOTAT YTOAT=AT FHOTAR 3aRAT SHAT ATSUI e,

SIEIGIERE ) doard

F) A B ®) T

AT 3N

1) H-8-9-37 2) H-I-8-37

3) 9-8-h-3 4) A-9d-8-h

Arrange the following sources as per the water content in the decreasing order.
a) atmosphere b) lakes

c) Ice caps d) Groundwater

Answer options :
)c-d-b-a 2)c-b-d-a
3)b-d-c-a 49Ha-b-d-c

78. WIHISID! IV Tk ARRT dTIHHEER GROTH HdTd?

3) FATRMIAR APRE U ) STH STITOT I
EDICIR ¥) APRI FATE

T I

1) 3A, 9, 2) 9, %, €

3) 3, 9, € 4) A, d, &b, €

Which of the following factors affects the ocean temperature distribution.
a) Latitude position of sea b) Land and sea

c) Prevailing wind d) Ocean currents

Answer options :
1) a, b, c 2) b, c,d
3 a, b, d 4)a, b, c d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



30 AT Wb IRER

79. WG U [HERIT .
37) AT [Aagarer 32 THEr=AT gSHRIT=AT 9TvgTe draETe dTed.
) IR AR g & I & HRIT e,
T I
1) Sl g™ SRIER 3Med 0T & g 37 ° I TS0 3118
2) Sl [T SRR SMRd ST § 7 37 o I WShR0T ATel
3) 3T ISR 3R, § Ih
4) 31 I, T RO
Consider the following statements
a) Temperature of ocean surface water increases from pole towards equator.
b) Differential solar insolation is the main cause for this.
Answer options :
1) Both statements are correct and b is the correct explanation for a
2) Both statements are correct and b is the not the correct explanation for a
3) a is correct, b is incorrect
4) a is incorrect, b is correct

80. IPRT JATEAR WISIAUhl 3=l THTT TSdr?
37) g IR
) KA l-{lutllrj\l ddl
) =TT &I JATOT g

T 39T ;
1) %t 3T, & 2) %th 9, &
3) Wth 3T, & 4) Fh A, T, H

Which of the following factors influence the ocean current?

a) Rotation of earth

b) Density of ocean water

c) Air pressure and wind

Answer options :

1) Only a, b 2) Only b, ¢
3) Only a, ¢ 4) Only a, b, ¢

81. W HMT HIS THH B, 3T TIUT 7] Ihal?

1) 9P €8 2) Weld 3d”

3) Y@ "9 4) TP FOT A
Where does continental margin ends?

1) Ocean deeps 2) Continental slope
3) Continental shelf 4) Ocean basin floor
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82. WIGIHUHI HIUTAT AT AT IeAHieh TERIPRIES Tad?

3T) RIAS I ) S I

&) AR Heda T ) TIeiehl I
T I

1) %h A, &, © 2) <h o, &

3) th 3, S 4) Thth &, €
Which of the following trenches are in the atlantic ocean?

a) Kuril Trench b) Tonga Trench
c) South Sandwich Trench d) Puerto Rico Trench
Answer options :

1) Only a, c, d 2) Only b, c

3) Only a, d 4) Only ¢, d

83. EAIHIET RITS HIA?
1) TG UTOATEToIeh 3T AT ST iehl ATEedT Ao dTqHT isl ST AT &l
2) TG UTOTETAG 3T T 1Y Qio aTecdT™ qroarel drqaT disl T Jred.

3) TG UTOATETAIG ST ST ST Wies! ATeed™T aToar=i eTRaT dis T aTed.
4) TG ITOGTETOIG 3TRAT T ST @il AT UToardT 9T diel I ared.

What is halocline?

1) A region beneath the sea water where the temperature decreases rapidly with increase in
depth.

2) A region beneath the sea water where the temperature increases rapidly with increase in
depth.

3) A region beneath the sea water where the salinity increases rapidly with increase in
depth.

4) A region beneath the sea water where the density of water increases rapidly with increase
in depth.

84. Y9I HEMANRIET AT HAhBIAR 3a3dl ¥l JAGHT IaTd Haer.

1) Uralthes, fEar, Acdilesh, dfacsh 2) T&ar, anface, URiTheh, Tcaics

3) TE<T, urafthe, anface, eaiics 4) GRATheh, i, fEar, ides
Choose the option in which oceans are arranged in descending order according to their area.
1) Pacific, Hindi, Atlantic, Arctic 2) Hindi, Arctic, Pacific, Atlantic

3) Hindi, Pacific, Arctic, Atlantic 4) Pacific, Atlantic, Hindi, Arctic
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85. Wioie faum fI=mra =i.

3) IR IMSTITAIS FERIPRIT dTIH IF4T0T MATITaie PRIV o Sied 318,

) HAU § 3T YhREAT ATIHN TR0 THE HRIT 3L,
Wgaﬁ;%:

1) Sl g™ S=IER 3Med 0T & g 37 ¥ I TS0 311

2) el fIg™ ST SRd ST § 8 37 = I WSIhoT el

3) 3 SRIER 3T, T IH

4) 3T g, T W

Consider the following statements.

a) Temperature of the northern oceans is comparatively more than the southern oceans.
b) Tilting of earth is the major cause for this type of temperature distribution.
Answer options :

1) Both statements are correct and b is the correct explanation for a

2) Both statements are correct and b is not the correct explanation for a

3) a is correct, b is incorrect

4) a is incorrect, b is correct

86. WIGIHUHI BT SATSTET 3T HHUTAT I IATA?

31 HHT B3 ENEEICE
ENERIERE <) FSITeRIT
T I

1) ®th 3, & 2) Oth 3, 9,
3) \th <h, S 4) A, ¥, h, S
Which of the following Volcanoes comprise Ring of Fire?

a) Mauna Loa b) Krakatoa

¢) Vesuvias d) Cotopaxi
Answer options :

1) Only a, b 2) Only a, b, d
3) Only ¢, d 4)a, b, cd

87. Ui U fo=mRTa =i
) FAER ARRI YGTE 3R IHRFAT T3 AETEAPRI dT9HT HHT Sl

) IR ACHNich PRI VI8 8T I9SR IFRI YaT8 e,

1) Fh 3T SRR 2) th ¥ SRIEY

3) Il SRR AR 4) TN IH ATEA

Consider the following statements.

a) The Labrador ocean current lowers the temperature of the north east ocean of north
america.

b) North Atlantic drift current is warm ocean current.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect
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88. Wy g / AT AT FARAIAR TS ShAT HISUI el
3N IR T ) dlfech Tx
%) FHeHT TS ) T TIE
Ty 39N
HDFHF-F-F-8 DT-F-F-8
3)h-d-H-¢ HA-h-F-7¢
Arrange the following water bodies in ascending order of their salinity.
a) Sambhar Lake b) Baltic Sea
¢) Black Sea d) Dead Sea
Answer options :
I)c-a-b-d 2)b-c-a-d
3 c-b-a-d Ha-c-b-d
89. Ui Ty [a=RTd =T
3T) TSTAT ISHPTTAT IToTe IRRIRT dTIAH 27° C 3ATE.
) IISAT T&T2MTHE dTIATT HAT 2rogr= 22 0.5° C Ufd 378Ti3r 3me.
%) AT UINd AERAPIRTEAT UT9T=AT AT9qHTd 3TTal AT YHIONT 986 ardl.
T 39N
1) ®<h 3T, § 2) h o, & IRIER
3) Wth 3T, & SRIE% 4) TS IT TR 3
Consider the following statements.
a) The average temperature of surface water of the ocean is 270C.
b) The rate of decrease of temperature with increasing latitude is 0.5 oC per latitude.
¢) In the polar region the change of ocean water temperature is very minute.
Answer options :
1) Only a, b are correct 2) Only a, c are correct
3) Only b, c are correct 4) All of the above are correct
90. WIAHSUhl HIVTd Uoeh HEEPRTAT YTUTAT TRda< URUTH hadid?

31 IINET 3O Yot
) ATSAT UTOITET YREaT.

h) EELE

T IR

1) h 3T, 2) Bh ¥, &
3) Oh 3T, & 4) TS I

Which of the following factors affect the salinity of ocean water?

a) Evaporation and Precipitation

b) Supply of fresh water

¢) Ocean currents

Answer options :

1) only a, b 2) Only b, c

3) Only a, ¢ 4) All of the above
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91. @E HATAT HHId, Gloe Fu [I=awRid &
3) TSNS AT 3G APRI YA FEIS S T =OTATd.
) FgES STHANET IR Gior 180 Hiex gdd .
%) o [FTRUSIER qEe J9 el Wesd AT,
¥) SPIAIe WE ARHRIET [SHT Ee HATaR 31T,
TIAUHRT HIOTAT TTa= A TTRd?

R 39
)3, H 2) T, H, €
3) 3, d, S 4) 3,9, H, €

With reference to the Continental Shelf, consider the following statements:
a) The shallow sea area near the continent is called Continental Shelf.

b) The average depth of the Continental Shelf is up to 180 metres.

c) The continental shelf is absent on the Chile coast.

d) Major fishing grounds of the world are located on Continental Shelf .
Which of the above statements are correct?

Answer options :

1) a, b, c 2) b, c,d

3 a, b, d 4) a, b, c, d

92. WSie UM ff=aRa =i

37) Sifce® AHEMT @RAT SR 378,
) IR ACHNCH APRT YATEHes JFarad AERIPRIAIG Irogral $RdT aTed.

T 9N

1) Sl fora™ SRIeR 3TTed Mo & € 37 9 I TSR0 3T
2) Sl [ SER 3R 3nfoT § ® 37 I AT TEIRROT ATer
3) 3 TSR 3R, T Ih

4) 31 I, T R

Consider the following statements.

a) The Baltic sea records higher salinity.

b) The influx of water from the north atlantic ocean current increases salinity of the
respective ocean water.

Answer options :

1) Both statements are correct and b is the correct explanation for a

2) Both statements are correct and b is not the correct explanation for a

3) a is correct, b is incorrect

4) a is incorrect, b is correct
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93. Yo [aa =R =i
37) THGETAT o= ARAT Wi ied Jred.
) FHT TR U0 & ST 8TRaT ST roaras a¥sTd
Y IR
1) th 37 TR 2) Teh & SRR
3) Sl IR 3Ted 4) Tl Ioh 3Ted.
Consider the following statements
a) Salinity of ocean water increases with depth/
b) Lower saline water floats on higher saline ocean water.
Answer options :
1) Only a is correct 2) Only b is correct
3) Both are correct 4) Both are incorrect
94, WTSIHUHT HIUTATl AT (B8 HEHEPRIT 3Te?
37) SIET T4t ) STH{~eAT AT
) T 3T ¥) TRG-HATSH Tl
T I
1) 3, 2)F, S
A, H S 4) 37,8
Which among the following trenches are in the Indian Ocean?
a) Java Trench b) Diamantina Trench
c) Tonga Trench d) Kuril-Kamchatka Trench
Answer options :
1)a, b 2) ¢, d
3) b, c,d 4) a, d
95. WISIGUhT I/l [TUT/4 HEEFRIAT T BlaaToiags ST 3Te/3TTed?

3T) TGETAT UToaTAT giadToiay 93, g S0 IRT FIAREAT 918l 3RhidT iR gl

) H1eT 3NOT AP YaTE & HERIPRISAT Uroar=l afdsT glaers 31 d ¥l & AHaren
IO Ueh WehRET ST BT 3TTe.

T I
1) %th 3T 2) ®h &
3) 3T AT 4) 37 fohar & =Tar

Which among the following statements is/are correct about Ocean Water movements?

a) Movements of ocean water are affected by external forces like the sun, moon and the
winds.

b) Waves and the ocean currents are horizontal movements of ocean waters while the tide
is a kind of vertical movement of the ocean water.

Answer options :

1) Only a 2) Only b

3) aand b 4) Neither a nor b
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96. Jelies g o= =i
37) AT 2 3730 AT 318 fSre AT ST AT 2.
) EHIFIE BT AT T AR ST FETAT IBIRITAT GG &TRAT Tehad dTed.
TR 39 :
1) Fh 37 SRR 2) th ¥ SRIER
3) Sl TR 3Ted 4) Tl Ieh 3Ted.
Consider the following statements.

a) Thermocline is the boundary where temperature decreases rapidly.

b) Halocline is the region where salinity increases with the depth from ocean surface.
Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

97. WIHGUR! HUTd U hRS AhAT FHATER RO SHIdrd?

3N dEhd gaH ) ST AT

%) forr e aafashao T) APRI qrogTe Jguol
I I

)3, 9, h, S 2) 3, 9, €

3) 3T, h, S 4) 3, 9, h

Which among the following factors affect the formation of Coral Reefs?
a) Climate change b) Overfishing

c) Encroachment in Coastal Area d) Ocean water Pollution

Answer options :

1) a, b, ¢ d 2) a, b, d
3 a,cd 4) a, b, c
98. STIdIey Haid Hed™T JraqRT (S T Y22 3MMSeadTd.

1) 39SR 30T g ITATaRNT JaTg Tehal IdTd

2) AT HISAT YATONT ST IrogreT MRt AHgrd H3drd

3) 3SR MOT U APRT WaTg Tha IdTd

4) IAFUhT Thal ATal

The most important fishing grounds of the world are found in the regions where .

1) warm and cold atmospheric currents meet

2) rivers drain out large amounts of freshwater into the sea
3) warm and cold oceanic currents meet

4) None of the above
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99. Ui faa =R =i
37) SIS ATBae! VBT [oh-IT=TaTaes 3T AN Y478 argdrd, 3T M= s TR,
) HedT Wi IigH fhRT UeEnd arede e IdTd.
T I
1) h 3T SRIER 2) th F SRR
3) Sl SRIET 3Med 4) IET I R

Consider the following statements.

a) There have been observations that the warm ocean currents flow off the coast of desert
regions.

b) Most of the deserts are found at the west coast of the continent.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

100. I&Ie e fo=mra =im.
37 IUTHRCTYT WereT Ui fFar=arase ¥ PRI YaTg argdrd.

) 3T FARNARIG WSrAT A [hT=Tas 396X AFRI YaTg argdrd
T I9Y

1) Fh 3T SRR 2) th ¥ SRR
3) Sel SRR 3Ted 4) Tl Ieh 3R
Consider the following statements.

a) West coasts of the tropical continents are bordered by cold ocean current

b) West coasts of higher latitudinal continents are bordered by warm ocean currents.
Answer options :

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect
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